Mod6 D1





Name_______________________________
Similarity and Scale
For each figure, sketch another figure that is similar, but NOT congruent to the first.  Be sure to label dimensions as necessary.

	1. 
	2.
	3.

	4.
	5.
	6.

	7. 7.  Explain, like you would to a first grader, the difference between what it means to be similar versus congruent.



	8. 8.  If two figures are similar, are they sometimes, always or never congruent?  Explain.

	9.   9.  If two figures are congruent, are they sometimes, always or never similar?  Explain.

	  Simplify.
	  Solve.
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[image: image1.wmf]500

45

+



	11.  
[image: image2.wmf]48

5

12

2

-

+


	12.  
[image: image3.wmf]18

8

)

2

(

=

+

x


	13.  
[image: image4.wmf]7

3

5

=

+

x





Math 2








Name:_______________________

Mod6 D1







Date: ______________ Period: ___

Fraction Buster’s
	Step 1  

Find the least common denominator (LCD).

Don’t use it to create common denominators!

Step 2  

Multiply the LCD by the numerators.  The denominators stay the same.

Step 3 

Reduce the fractions.  

Step 4 

Solve the non-fraction equation.


	Step 1                                             
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Step 2                                            
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Step 3
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Step 4                                             
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The LCD is 9x because 3 is a factor of 9x, 9 is a factor of 9x and x is a factor of 9x.





9x





Distribute the 9x to the 2, 4 and 2





9x





The denominator’s stay the same!
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